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(iii) Bills Receivable drawn during the year totaled ¥ 45 Lakh of which bills amounting to
¥ 28 Lakh were endorsed in favour of Creditors. Out of these endorsed B/R, some bills
for ¥ 4.60 Lakh were dishonoured for non-payment as the parties became insolvent, their
estate realizing nothing.

(iv) Cheques received from Sundry Customers for ¥ 41 Lakh were dishonoured; a sum of
3 5 Lakh is irrecoverable.

(v) Bad Debts written off in the earlier years was recovered of ¥ 7.50 Lakh.

(vi) Transfers from Creditors Ledger to Debtors Ledger were of ¥ 38 Lakh.

(vii) Sundry Debtors, as on 1st April, 2017, stood at ¥ 128 Lakh.

You are required to show the General Ledger Adjustments Accounts in the Debtors Ledger. 6

6. (a) CCL wants to take up a loss of profit policy. Turnover during the current year is expected to
increase by 20%. The company will avail overdraft facilities from its bank @ 15% interest to
boost up the sales. The average daily overdraft balance will be around ¥ 3 Lakh. All other fixed
expenses will remain same. The following further details are also available from the previous

year’s account:

3
Total variable expenses 24,00,000
Fixed expenses:
Salaries 3,30,000
Rent, Rates and Taxes 30,000
Travelling expenses 50,000
Postage, Telegram, Telephone 60,000
Director’s fees 10,000
Audit fees 20,000
Miscellaneous income 70,000
Net Profit ‘ 4,20,000

Determine the amount of policy to be taken for the current year. 7
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(b) Mansi Ltd. acquires £h3 lease of a mine from Nanu Ltd. on the following terms:
(i) Minimum Rent of ¥ 40 Lakh per annum merging into a royalty of ¥ 50 per tonne.
(i1) Shortworkings are recoverable out of future earnings subject to:
(I) Only half of the excess earnings over minimum rent may be used for this purpose.

(ID No Shortworkings may be carried forward for recoupment if output falls below

40000 Tonnes, in any year.

Output for the first four years was : 32000 Tonnes; 48000 Tonnes; 64000 Tonnes and 112000

Tonnes respectively.

Prepare the necessary accounts for aboire four years in the books of the Lessee. 8

7. (a) In a production process, normal waste is 5% of input. 5000 MT of input were put in process
resulting in a wastage of 300 MT. Cost per MT of input is ¥ 1,900. The entire quantity of waste
is on stock at the year end. State with reference to Accounting standard, the treatment of normal

loss and abnormal loss and also find out the amount of abnormal loss, if any and the value of

closing inventories. 8
.(b) Enumerate the advantages of computerized Accounting. 7
8. Write short notes on any three of the following: ' 5%3=15

(i) Applicability and Non-Applicability of Garner vs. Murray Rule
(i) Consequential Loss Policy
(iii) Distinction between Hire Purchase Agreemént and Instalment Purchase Agreement

(iv) Distinction between Fundamental accounting assumptions and Accounting policies



